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Understanding of shape and space
TF—1 FHGIOT BT A BNl & —
The measure of right angle is -
(@) 30° @) 60° () 120° (@) 90° ()

ge—2 T & T ARl H T IV BT ggAE PR Sw g PIOT AT
HHPIT & WY H ferfay 3+3=6

In the given figures, identify all the angles, and write them in the form of acute
angle or right angle -

A D
B C E F

Ml () A SRR (i)
In figure (i) In figure (ii)
Acute angle Acute angle

Riucaul Riucau
Right angle Right angle

AT 1 BT
Understanding of the Number system

-3 fr=ferRad # A si9ar ey 9@ & — 1
In the following, which option is true.

(31) 28506 > 28605

(|) 26580 < 26850

(@) 25806 > 25808
(]) 20658 > 22568 ()

gei—4 9 RU MY Fol & FE AT Tod B89 D i DI R IF T
& | fy T dfe H w8/ T faRkag — 2+2+2=6
Check whether the statements given below are true or false and write true or false
in the bracket given in front of the statement.

(i) %=1 20005 BT TTET F &7 IR UrH forEd B ()
Number 20005 is written as two thousand and five in words

(i) =T 36375 H 3P 6 BT W A 6000 ¥ | ()
Place value of digit 6 in number 36375 is 6000.

(iii) AT W BOIR Ut | Bl sl # 70500 forEmd € ()

Number Seventy thousand five hundred is written in digit as 705000.

y-5 &y v o # BrAifed W @1 S U9 gemed w9 faRay 1+2=3

In the given figure, write the fraction and decimal form of the shaded area.

(i) ¥ ¥U Fraction form
(i) T¥HAT ™Y Decimal form

Twi—6 o foaRad gl @1 gt BTG — 3+3=6
Solve the following questions.
() W | 9OIR ¥ 6 Hex el &) @E | 3¢ 98 TR wefordl
TR el © A1 TS BT fber Aex ot A ety ?
Bhavna purchased 6m long rope from the market. She divides the rope equally

among her four friends. How much long rope will each get?
IR/ Ans

(i) AR BT Y FHH g9 & oy 1.5 e HusT a1fRe ar 7 & 2
T & o ot fraT Hiex wueT 3 smawadar g ?
Narayan wants 1.5 meter cloth to stitch one shirt. How much meter cloth is
necessary to stitch 2 such shirts.




. ¥R/ Ans

wfsrarell o wws
Understanding of the basic mathematical operations

yei—7 B0 =T BT WRH 3P 7 — 1

(@) BTE BT 37 (3) T=TE BT 3D

(@) dbs BT 3D (@) | 3id ()

The extreme digit of Number is -

(A) Unit's digit (B) Ten's digit

(C) Hundred's digit (D) All digits ()
yei-8 fRaem Y & Toewe s ot | 3

Find the product by Nikhilam method -

12x14

Ik /Ans-
ye—9 fr=ferRad &1 ot @iy — 343=6

Solve the following
() IR R | AR & BT TF Afdd FT fBar 550 w9 B Al 15
A 1 f=rar faem s ?
If the fare of one person from Nohar to Jaipur is Rs 550. Then what will be the
fare of 15 persons.
3R/ Ans

(i) IRST & U 984 Bl € o 918 SAD U fha goi bl & 2

Nevraj has 984 bananas, then find how many dozen bananas does he have ?
SR/ Ans

TT—10 I5 A TSI G AT HI FTAST 36 T 54 M1 § YRI—YRT 91T SIT
g 6
Find the greatest number which is exactly divided by 36 and 54 fully.
3R/ Ans

y—11 frefaRad ueat 1 g Bt 243+3=8

Solve the following questions.

(i) B2 gY i foriay —

Write the missing digits.
7 6
8 7

4 5 7

(i) 3122, 8050 TAT 738 BT AT PBINW —
Find the sum of 3122, 8050 and 738
SN/ Ans

(i) T B U 12500 R T SUA 2500 O B Ry 7 qer
8000 WUY HI ATRAT AL WRIET & , TN 9 T e w0
A T ?

Naman has 12500 Rs. He purchased sewing machine for 2500Rs and
washing machine for 8000 Rs. Find how much money is left with him?
SR/ Ans

HIOT B FHH
Understanding of Measurement.

JTI—12 gold 7 ¢ fell aael 8y SUF vo U9 Uy fFamwm & wia & qor 3
e TaaR ¢ B go I URT franm & Wi 9 =i | s9a
T 39 8y WO o U T B A1 Il g8 fHa IR AR qeIR
T ot ? 3
Sujal purchased ¢ Kilo rice of 8% Rs %o per kilogram and 8 kilogram sugar for
Rz Rs &o Paise per kilogram. Now 8% Rs 9o paise is left with her .Then find
how much money she took with her in the market.
3R/ Ans

ge—13 3 ©Uel # g b fAfie 81 § — 1
(1) 60 fafe @) 120 fafe
(@) 180 fafre (®) 150 fafre ()




How many minutes are there in 3 hours.

(A) 60 minutes (B) 120 minuter
(C) 180 minuter (D) 150 minuter ()
y—14 fr=Rad oMt & T /e | w0 # ugEy — 3

Identify the following statements in the form of true/False.
@ e o Jas H 9507 B forw fAfe @1 60 &1 9T < R
(g / 3re)
To change minute into seconds we divide minute by 60  (True/False)
() 1 =9 § 3600 VUbS B B | (Fa / 3rac)

There are 3600 seconds in 1 hour (True/False)

(iii)

3 goer 15 AfYe & sxex BT 2

Y, hour is equal to 15 minute

yei—15 Rad el &1 gfif Sifve —

(GRVANR))
(True/False)

1+1+1=3

Fill in the blanks

(D 1500 TTH = oo foretrams
1500 gram = kilogram

(i) 3% TBARTH = I

3! kilogram = .......... rreeee gTAM

(i) farm gb1g aﬁwswrs‘ﬁ EESEICRIY
[ O FRT 2|

To change kilogram unit to gram unit we multiply by

YTA—16 W ‘37 BT W T A e PRy —
Match Part 'A' with Part 'B' 3
3T WRT—9
Part'A' Part 'B'
@ 1 fearex (A) 10 fAefiex
1 Kilometer 10 milli meter
(i) 1 AR (B) 1000 HIex
1 meter 100 meter
(i) 1 AR (C) 100 AT

1 Centimeter 100 Centimeter

TT—17 T MAAPR BIEBH s s 8 Alex T drers 7 Hiex § 590
IR R 7 gl & I« QIR — 4+4=8
One Rectangular Photo frame is of length 8 meter and breadth 7 meter . on the
basis of this answer the following questions
() U BICBH H T dTel Bl BT &5hel S BINTY |
Find the area of photo that can be placed in this photo frame.
3R/ Ans

(i) S IAATBR BISTBH b IRI 3R AbS! B TS T B, T+ drell
B! BT Bl TS T B |
A wooden strip is to be fixed around the rectangular photo frame. Find the total
length of the wooden strip to be fixed around the photo frame.

3N/ Ans
Tei—18 1000 fAefielier & TR 81 & — 1
(@1) 2 efeR @) 3 @R
(W) 1R () 4 R ()
1000 millimeter is equal to —
(A) 2 litre (B) 2 litre
(€)1 litre (D) 4 litre ()
JT—19 U & UF e H 15 oflex IaT omar 2] 3750 ofiex ot & forw & &
o fesd &g uew ? 3
One cane of oil contains 15 litre oil. How many such canes are to be bought for
3750 litre oil.
3N/ Ans




dAfpsl BT yg=H TG Yo P T

Data Handling and Understanding of patterns

Te—20 7 oy Tg Y @1 oM Iey —

Extend the following patterns given below-

= tt =
@ = @ 44 @ 11

y—21 T 7T de # anTen ug BN —

The next term in the given pattern is -

ye-—22 YY & R F UM 9 NFer drer gt @

(%) 36 ()

9y 9 TS °UC db

TR eToT fhar 9 A weR @ aredl @ W Are @, o e

UPR & —

6

Piyush observed the vehicles passing by Piyush's house in one hour and moted

the number of various types of vehicles, which is as follows

qIEd BT UBR | Alex AIgfdhd | PR | 99 | oh
qrEAl @ | 9 6 3|5
Type of Vehicle Motor cycle | Car | Bus | Truck
Number of Vehicle 9 6 3 5

g Sifpel @l W fRT Tu U F W A § quigd |

Show these datas in bar chart in graph.




